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1. The movement of a plant part in response to the force of attraction exerted by the earth

is called:

(a) Hydrotropismg==" iy " .
(b) Geotroplsm - = W R
(c) Chemotropism - M A
(d) Phototropism

Answer. (b) Geotropism
2. A big tree falls in a forest, but its roots are still in contact with the soil. The branches of

this fallen tree grow straight up (vertically). This happens in response to:
(a) Water and light .
(b) Water and minerals ‘-___-rl' i B
(c) Gravity and water . r

(d) Light and gravity L _— L

Answer. (d) Light and gravity

3. The main function of the plant hormone called abscisic acid is to: )
(a) Increase the length of €&lls =™ 3 P

(b) Promote cell division t'
(c) Inhibit growth **, b
(d) Promote growth of stem and rﬁt‘? o ﬁ

Answer. (¢) Inhibit growth

4. The growth of tendrils in pea plants is due to the:

(a) Effect.of sunligﬁt en the tendril cells-faeing the sun . -4* i
(b) Effect of gravity on: the part of tendril hanging down towards the earth |
(c) Rapid cell'division and eIongatlon |n tendr|I cells that are away from the support
(d) Rapid cell d|V|S|on and e ith=the support

Answer. (c) Rapid cell division and elongation in tendril cells that are away from the

support
5. The plant hormone which triggers the fall of mature leaves and fruits from the plant

body is:

(a) Auxin

(b) Gibberellin
(c) Abscisic acid
(d) Cytokinin

Answer. (c) Abscisic acid




6. The stimulus in the process of thigmotropism is:
(a) Touch

(b) Gravity

(c) Light

(d) Chemical

Answer. (a) Touch
7. A growing seedling is kept in a dark room. A burning lamp is placed near to it for a few
days. The top part of seedling bends towards the burnlng candle. Thisis an example of:

(a) Chemdtropism - R Y B
(b) Hydratropism g v . - -
(c) Phototrepism R L
(d) Geotrapism = = o

Answer. (c) Phototropism
8. Dandelion flowers open the petals in bright light during the daytime but close the petals
in dark at night. This response of dandelion flowers to light is called:

(&) PHotbtropism |I P . &

(b) Thigmonasty o ¥
(c) Chemotropism . | .

(d) Pho[gnasty - - — - B
Answer. (d) Photonasty

9. The number of pairs of nerves which arises from the spinal cord is: )
() 21 i P

(by31 ' - . Y
(c) 41 T ? ™ & !
(d) Tl W & -+ ."1 i ot B )
Answer. (b) 31

10. lodine is necessary for the synthesis of which of the following hormone’>

() Adrenaline =" T T 4 B
(b) Auxin = e W, i - " 1599

(c) Thyroxine e, —_— —lrd

(d) Insulin il i

Answer. (¢) Thyroxine

11. Which of the followmg controls the involuntary actions in the body?

(a) Medulla in forebrairn - o

(b) Medutta in-hindbtainm e . & R S P
(c) Medulla in spinal cord

(d) Medulla in midbrain

Answer. (b) Medulla in hindbrain

12. Which of the following control and regulate the life process?




(a) Reproductive and endocrine systems
(b) Respiratory and nervous systems

(c) Endocrine and digestive systems

(d) Nervous and endocrine systems

Answer. (d) Nervous and endocrine systems

13. A doctor advised a person to take injection of insulin because his:

(a) Blood préssure-was high _ - |

(b) Heart._'be%t \fV_éS h|gh T o I-LY L =y '-.:_: = :..
(c) Blood sugdr was high Ll - 13 4 ik
(d) Thyroxinesfevel in bloog fas high ol . N

Answer. (c) Blood sugar was high
14. The dramatic changes in body features associated with puberty are mainly because of
the secretions of:

(a)I Estrogen fromtestes and tgstosterone from ovary - e
(!)) Estragen from adrenal glgnd and testosterone from pituitary %Izﬁﬁ; -
(C) Testosterone from testes and estrogen from ovary ;

(d)' Ties?t_osterone from thyroid 'g].gnd and. estkagen from pituitary-gland .
Answer. (c) Testosterone from testes and estrogen from ovary
15. Electrical impulse travels in a neuron from:

(2)'Déndrite — axon — axofi eid — cell body ] k*
(E)-Qel' body —>'€i_epdrite — axon — axon end 2 .
(c) Dendrite — cell body — axon -—.axon end -~ 3 i ¥ __.'
(d) Axon end —axot.=> cell bod endrite - o k¥
Answer. (¢) Dendrite — cell body — axon — axon end
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